
SAP ABAP table S114 {Fahrzeugverbrauchsanalyse}

S114

MANDT [CLNT (3)]

SSOUR [CHAR (4)]

VRSIO [CHAR (3)]

SPMON [NUMC (6)]

SPTAG [DATS (8)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

UNSYS [CHAR (3)]

SWERK [CHAR (4)]

EQTYP [CHAR (1)]

EQART [CHAR (10)]

IWERK [CHAR (4)]

HERST [CHAR (30)]

TYPBZ [CHAR (20)]

BAUJJ [CHAR (4)]

EQUNR [CHAR (18)]

DUNIT [UNIT (3)]

TUNIT [UNIT (3)]

FUNIT [UNIT (3)]

MUNIT [UNIT (3)]

FDUNIT [UNIT (3)]

FTUNIT [UNIT (3)]

MDUNIT [UNIT (3)]

MTUNIT [UNIT (3)]

CDUNIT [UNIT (3)]

CTUNIT [UNIT (3)]

WAERS [CUKY (5)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 S114-EQUNR = EQUI-EQUNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 S114-MANDT = T000-MANDT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 S114-SWERK = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 S114-CDUNIT = T006-MSEHI 

0..N

0..N  S114-CTUNIT = T006-MSEHI 

0..N

0..N  S114-DUNIT = T006-MSEHI 

0..N

0..N  S114-FDUNIT = T006-MSEHI 

0..N0..N
 S114-FTUNIT = T006-MSEHI 

0..N
0..N  S114-FUNIT = T006-MSEHI 

0..N
0..N  S114-MDUNIT = T006-MSEHI 0..N0..N

 S114-MTUNIT = T006-MSEHI 

0..N

0..N

 S114-MUNIT = T006-MSEHI 

0..N

0..N

 S114-TUNIT = T006-MSEHI 

0..N

0..N

T370K

MANDT [CLNT (3)]

EQART [CHAR (10)]

 S114-EQART = T370K-EQART 

0..N

0..N

T370T

MANDT [CLNT (3)]

EQTYP [CHAR (1)]

 S114-EQTYP = T370T-EQTYP 

0..N

0..N

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 S114-IWERK = T399I-IWERK 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 S114-WAERS = TCURC-WAERS 

0..N

0..N


